Triangle Proofs and Test Review Worksheet #1

September 24, 2014 (Wednesday)

1.
Given: GH||I] , £ZH=/] and GH=]J
Prove: 2ZGIH=£IK]
Statements Reasans
1. 1. Given
2. £LH=/] 2.
3. 3. :
4, 4, Alternate Interior
5. 5.
6. 6.CPCTC
2.

Given: PMJ|NO, MN||PO,
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Pl A
Prove: PM=0N
Statements Reasons
., PMJ|ON 1.
2. 2. Given
3. £ZPMO=/NQP 3.
4, 4, Alternate Interior
5. MO=MGO 5.
6. 6. ASA
7. 7.




Find the values of x:
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7. Find the below information

Find the value of x, it BD is the angle bisecior of ZABC.

Al

£DBC

2ABC




8.

Points A, B, and C are collinear. Point B is between A and C. Solve for x. AB = 8, AC=x+21,and BC=2x+20

9. Inthe diagram of collinear points, QS = 21,
QR =7,and PR = 13. Find the length of PQ,
RS, and PS.

10. In the diagram to the right, TE is an éngle bisector of ZBTM.
Find the below if m £ ETM= (2x + 12)°, and m £ BTM = 76",

X = m<£ ETM =

PS =

m < BTE =




o
LY

Findxandy

11.

130/

g
ﬁﬂ.
d
% A b
M
T




Triangle Proofs and Test Review Worksheet #1 September 24, 2014 (Wednesday

1.
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Statements Reasons
1.PMJJON . 1. Given
2. MN 1IPD 2. Given
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Find the values of x:

o

xt37=Jo "

3.
f 7‘x-—l33 54 =
|| N
,Px =317 (x + 257 ’
[x=3i] | _ .
(y — 18)°
7 Tx— 19F° T F
7(G1-17) = F
5. - 5x-A5+ x+J =150 e
Fx Jé Shae "
.. =196 ,
= : g°
Bx — 25)° - S |
/(X @ (= 12N
(3x + 9)° ]?b
' x-12149=dp

x:§3f

7. Find the below information

Find the value of x, if BD is the angle bisector of ZABC.
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40: X

FO+860 =/60°
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8.

Points A, B, and C are collinear. Point B is between A and C. Solve for x. AB=8, AC=x+ 21, and BC=2x+ 20
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9. Inthe diagram of collinear points, QS = 21, T . i«
QR =7,and PR = 13. Find the length of PQ, F4 T
RS, and PS. r,,,__«/fs [ .
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PQ = 6 RS = (4 ps= 27

10. In the diagram to the right, TE is an éngle bisector of ZBTM.

Find the below if m 2 ETM= (2x + 12)°, and m 2 BTM = 76"

& ml BTE .
= |3 msETM= 38 msBEE- 38
2%t #xH 2 =7 2X+(2
L+ 4= 2(3)+12
Lix= 52 26 +1> = 38
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Find xandy
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